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COST AND MANAGEMENT ACCOUNTING — II — GENERAL
Paper : CC-4.2-Cg

Full Marks : 80

Candidates are required to give their answers in their own words
as far as practicable.

õ∂±ôLø˘ø‡Ó¬ ¸—‡…±&ø˘ ¬Û”Ì«˜±Ú øÚÀ«˙fl¬/

øıˆ¬±·-fl¬

Œ˚-Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ õ∂Àùüı˛ Î¬◊Mı˛ ±›/

1/ Î¬◊±˝ı˛Ì ¸˝ ¸—:± ±› – Joint Product, By-Product ¤ı— Co-Product/ Joint Product ¤ı— By-Product-¤ı˛ ˜ÀÒ…
¬Û±Ô«fl¬… Œ‡±›/ 5+5

2/ ABC (Activity Based Costing) fl¬œ∑ Cost Pool ¸—Sê±ôL Cost Driver-¤ı˛ øÓ¬ÚøÈ¬ Î¬◊±˝ı˛Ì ±›/ ABC fl¬œˆ¬±Àı
Traditional Costing-¤ı˛ ŒÔÀfl¬ Î¬◊ißÓ¬Ó¬ı˛∑ 3+3+4

3/ X Ltd. made sales during a certain period for ` 1,00,000. The Net Profit for the same period was ` 10,000

and the fixed overheads were ` 15,000. Find out: 2×5

(a) Profit Volume Ratio

(b) Variable Cost to Sales Ratio

(c) Break-even Sales

(d) Number of units to be sold to earn a Profit of ` 15,000

(e) Net Profit from the sales of ` 1,50,000.

4/ A factory is currently running at 50% capacity and produces 5000 units at a cost of ` 90 per unit. Unit

Cost Structure is as follows:

`

Material 50·00

Labour 15·00

Factory overheads 15·00 (` 6 fixed)

Administrative overhead 10·00 (` 5 fixed)

The current selling price is ` 100 per unit. At 60% working level, material cost per unit increases by 2%

and selling price per unit falls by 2%. Estimate profits of the factory at 60% working capacity. 10
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5/ ¤fl¬øÈ¬ Œfl¬±•Û±øÚÀÓ¬ 10,000 kilolitre A õ∂øSê˚˛±fl¬ı˛Ì fl¬Àı˛ 6,000 kilolitre B ’±ı˛ 4,000 kilolitre C Î¬◊»¬Û±øÓ¬ ˝˚˛/
¬Û‘Ôfl¬ƒfl¬ı˛Ì øıj≈ı˛ ¬Û”ı«ıÓ¬π Œ˚ÃÔ ı…˚˛ ˝˚˛ ` 24,000/ øÚ•ßø˘ø‡Ó¬ Ó¬ÀÔ…ı˛ øˆ¬øMÀÓ¬ Œ˚ÃÔ ı…˚˛Àfl¬ ¬ÛÌ…&ø˘ı˛ ˜ÀÒ… ı∞I◊Ú fl¬Àı˛±
¤ı— ¬Û‘Ôfl¬ƒfl¬ı˛Ì øıj≈ÀÓ¬ øıSê˚˛˜”˘… ı…ı˝±ı˛ fl¬Àı˛ ¬ÛÀÌ…ı˛ ˜≈Ú±Ù¬± øÚÒ«±ı˛Ì fl¬Àı˛±/ 10

B (`) C (`)
Unit selling price at separation point 5·00 3·75
Unit selling price after further processing 7·00 7·50
Further processing costs after separation 5,000 7,500

6/ A Ltd. X, Y ¤ı— Zñ ¤ ◊̋ øÓ¬ÚøÈ¬ ¬ÛÌ… Î¬◊»¬Û±Ú fl¬Àı̨/ ˚±ı̨ ¸•ÛÀfl«¬ øÚ•ßø˘ø‡Ó¬ Ó¬Ô… ¤fl¬øÈ¬ ¸˜˚̨fl¬±À˘ı̨ Œ›˚̨± ˝˘ñ

Product X Product Y Product Z
Units produced 200 200 200
Materials moves per product line 40 50 60
Direct Labour Hours 2,000 2,000 2,000

Budgeted Materials handling cost ` 18,00,000

ïfl¬ó øıÀ˙±¯Ì ¬Ûøı˛ı…˚˛ øÚÌ«˚˛ ¬ÛX¬øÓ¬ÀÓ¬ (Absorption Costing Method) ¬ÛÌ…&ø˘ı˛ ˝◊Î¬◊øÚÈ¬ õ∂øÓ¬ ı…˚˛ øÚÌ«˚˛ fl¬Àı˛±/

ï‡ó fl¬±˚«fl¬˘±¬Ûøˆ¬øMfl¬ ¬Ûøı˛ı…˚˛ øÚÌ«˚˛ ¬ÛX¬øÓ¬ÀÓ¬ (ABC) ¬ÛÌ…&ø˘ı˛ ˝◊Î¬◊øÚÈ¬ õ∂øÓ¬ ı…˚˛ øÚÌ«˚˛ fl¬Àı˛±/ 4+6

7/ ïfl¬ó ı±ÀÊÀÈ¬ı˛ ˜±Ò…À˜ øÚ˚˛LaÌ ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑
ï‡ó ı±ÀÊÀÈ¬ı˛ ¸œ˜±ıX¬Ó¬±&ø˘ fl¬œ fl¬œ∑ 5+5

8/ ¤fl¬øÈ¬ Œfl¬±•Û±øÚ ıÂÀı˛ 20,000 fl¬À•Û±ÀÚKÈ¬ ΔÓ¬øı˛ fl¬Àı˛/

The following further information is available:

Material cost per unit ` 2

Labour cost per unit ` 1

Variable overhead 100% of labour cost

Fixed Cost per unit ` 1

4·50 È¬±fl¬± õ∂øÓ¬ ¤fl¬Àfl¬ı˛ øıSê˚˛˜”˘… ˝À˘ 5000 ˝◊Î¬◊øÚÀÈ¬ı˛ ¤fl¬øÈ¬ ’Î«¬±ı˛ Œfl¬±•Û±øÚı˛ ŒÚ›˚˛± øfl¬ øÍ¬fl¬ ˝Àı∑ 10

øıˆ¬±·-‡
Œ˚-Œfl¬±ÀÚ± ≈øÈ¬ õ∂Àùüı˛ Î¬◊Mı˛ ±›/

9/ ïfl¬ó Standard Cost ¤ı— Standard Costing ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑ Budgeting Control fl¬œˆ¬±Àı Standard
Costing-¤ı˛ ŒÔÀfl¬ ’±˘±±∑ Standard Costing õ∂øSê˚˛± ‰¬±˘≈ fl¬ı˛±ı˛ øÓ¬ÚøÈ¬ ¬ÛX¬øÓ¬ı˛ Î¬◊À{°‡ fl¬Àı˛±/ 2+5+3

ï‡ó Compute the missing data indicated by the question marks from the following: 2×5

Particulars Product
A B

Standard Price per unit ` 12 ` 15

Actual Price per unit ` 15 ` 20
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Standard input (kg) 50 ?

Actual input (kg) 40 70

Material Price Variance ? ?

Material Usage Variance ? ` 300 (A)

Material Cost Variance ? ?

10/ ïfl¬ó Profit-Volume ’Ú≈¬Û±Ó¬ ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

ï‡ó The following details are obtained from XYZ Co. Ltd. for a calendar year:

Present Production and Sales: 8000 units

Selling Price per unit: ` 20·00

Variable Cost per unit:

Direct Material: ` 5·00

Direct Labour: ` 2·50

Variable overhead 100% of direct labour cost

Fixed Cost (total) ` 40,000

(i) Calculate: P/V Ratio, BEP and Margin of Safety (MOS) from above data.

(ii) Find the effect on P/V ratio, BEP and MOS, due to the changes in each of the following: Selling
Price increase by 10%, Variable Cost increase by 10%, 10% decrease in fixed cost and 10% decrease
in sales volume. 4+16

11/ È¬œfl¬± Œ˘À‡± – 5×4

ïfl¬ó Budget Manual

ï‡ó Principal Budget Factor

ï·ó Cost Pool

ï‚ó Joint Costs.

12/ øÚ•ßø˘ø‡Ó¬ Ó¬Ô… ˝˝◊ÀÓ¬ 30.06.2020 ŒÓ¬ Œ˙¯ ˝›˚˛± ¸˜˚˛fl¬±À˘ı˛ ÊÚ… ¤fl¬øÈ¬ ΔS˜±ø¸fl¬ Cash Budget ΔÓ¬øı˛ fl¬Àı˛±/ 20

Months Sales Purchase Wages Other Expenses
(`) (`) (`) (`)

February, 2021 2,40,000 1,68,000 20,000 14,000

March, 2021 2,60,000 2,00,000 24,000 16,000

April, 2021 1,60,000 2,08,000 16,000 12,000

May, 2021 2,32,000 2,12,000 20,000 24,000

June, 2021 1,76,000 1,60,000 16,000 12,000
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Additional information:

(i) Cash in hand on 01.04.2020 : ` 10,000

(ii) Sales : 20% realised in the month of sale with discount @2%; the balance realised after two months
of sales.

(iii) 4
5

th of the credit purchase is paid after one month of the date of purchase and next to that month

the balance 1
5

th is paid.

(iv) Wages are paid 3
4

th on the due date while 1
4

th during the next month.

(v) Other expenses are paid at a lag of one month.

(vi) Income tax ` 25,000 becomes due on or before 30.06.2020.

[English Version]

The figures in the margin indicate full marks.

Group-A

Answer any four questions.

1. Define with example the Joint-Product, By-Product and Co-Products. Also distinguish between

Joint-Products and By-Products. 5+5

2. What is ABC (Activity-Based-Costing)? Give three examples of Cost Pool with its Cost Drivers. How

is ABC Superior to Traditional Costing? 3+3+4

3. X Ltd. made sales during a certain period for ` 1,00,000. The Net Profit for the same period was ` 10,000

and the fixed overheads were ` 15,000. Find out: 2×5

(a) Profit Volume Ratio

(b) Variable Cost to Sales Ratio

(c) Break-even Sales

(d) Number of units to be sold to earn a Profit of ` 15,000

(e) Net Profit from the sales of ` 1,50,000.
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4. A factory is currently running at 50% capacity and produces 5000 units at a cost of ` 90 per unit. Unit
Cost Structure is as follows:

`
Material 50·00
Labour 15·00
Factory overheads 15·00 (` 6 fixed)
Administrative overhead 10·00 (` 5 fixed)

The current selling price is ` 100 per unit. At 60% working level, material cost per unit increases by 2%
and selling price per unit falls by 2%. Estimate profits of the factory at 60% working capacity. 10

5. In a company, 10,000 kiloletres of A is processed to produce 6,000 kiloletres of B and 4,000 kiloletres of C.
The Joint Costs before separation came to ` 24,000. From the following particulars, calculate the apportionment
of Joint Cost and the profit of each product under market value at separation point. 10

B (`) C (`)

Unit selling price at separation point 5·00 3·75

Unit selling price after further processing 7·00 7·50

Further processing costs after separation 5,000 7,500

6. A Ltd. produces three products X, Y and Z, about which it has provided the following information for
a period:

Product X Product Y Product Z
Units produced 200 200 200

Materials moves per product line 40 50 60

Direct Labour Hours 2,000 2,000 2,000

Budgeted Materials handling cost ` 18,00,000
You are to ascertain:

(a) Material Handling Cost per unit of products using Absorption Costing Method.

(b) Material Handling Cost per unit of product by using Activity Based Costing Method. 4+6

7. (a) What do you mean by Budgetary Control?

(b) What are the limitations of a Budget? 5+5

8. A company manufactures 20,000 components per annum.

The following further information is available:
Material cost per unit ` 2
Labour cost per unit ` 1
Variable overhead 100% of labour cost
Fixed Cost per unit ` 1

Advise whether:

Should the company accept on order to supply 5000 units at a selling price of ` 4·50 per unit? 10
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Group-B
Answer any two questions.

9. (a) What do you mean by ‘Standard Cost’ and ‘Standard Costing’? How Budgetary Control differs from
Standard Costing? List out the three steps involved in establishing standard costing technique. 2+5+3

(b) Compute the missing data indicated by the question marks from the following: 2×5

Particulars Product

A B

Standard Price per unit ` 12 ` 15

Actual Price per unit ` 15 ` 20

Standard input (kg) 50 ?

Actual input (kg) 40 70

Material Price Variance ? ?

Material Usage Variance ? ` 300 (A)

Material Cost Variance ? ?

10. (a) What is Profit-Volume Ratio?

(b) The following details are obtained from XYZ Co. Ltd. for a calendar year:

Present Production and Sales: 8000 units

Selling Price per unit: ` 20·00

Variable Cost per unit:

Direct Material: ` 5·00

Direct Labour: ` 2·50

Variable overhead 100% of direct labour cost

Fixed Cost (total) ` 40,000

(i) Calculate: P/V Ratio, BEP and Margin of Safety (MOS) from above data.

(ii) Find the effect on P/V ratio, BEP and MOS, due to the changes in each of the following: Selling
Price increase by 10%, Variable Cost increase by 10%, 10% decrease in fixed cost and 10% decrease
in sales volume. 4+16

11. Write notes on: 5×4

(a) Budget Manual

(b) Principal Budget Factor

(c) Cost Pool

(d) Joint Costs.
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12. From the following information prepare a Cash Budget for the quarter ending 30.6.2020. 20

Months Sales Purchase Wages Other Expenses
(`) (`) (`) (`)

February, 2021 2,40,000 1,68,000 20,000 14,000

March, 2021 2,60,000 2,00,000 24,000 16,000

April, 2021 1,60,000 2,08,000 16,000 12,000

May, 2021 2,32,000 2,12,000 20,000 24,000

June, 2021 1,76,000 1,60,000 16,000 12,000

Additional information:

(i) Cash in hand on 01.04.2020 : ` 10,000

(ii) Sales : 20% realised in the month of sale with discount @2%; the balance realised after two months
of sales.

(iii) 4
5

th of the credit purchase is paid after one month of the date of purchase and next to that month

the balance 1
5

th is paid.

(iv) Wages are paid 3
4

th on the due date while 1
4

th during the next month.

(v) Other expenses are paid at a lag of one month.

(vi) Income tax ` 25,000 becomes due on or before 30.06.2020.


